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REGULATIONS 2007
FOURTH SEMESTER
CE 1254 — SURVEYING 1T
CIVIL ENGINEERING

Time: Three Hours Maximum:100 marks

10.

ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

What is the difference between fixed hair and movable
hair tachometric surveying?

Define tangential tachometry

What do you understand by working from whole to part?
What is satellite station?

What is weight of an observation?

What is conditional quantity?

Define Celestial sphere

‘What is meant by Solstices?

Mention any two uses of soundings

Define isocenters
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11. (a) The following notes refer to a line leveled (
tacheometrically with an anallatic
tacheometer, the multiplying constant being
100.

Inst. | Height | Staff | Vertical ' §
Station | ofaxis | stations | angles Hair readings Remarks
P 150 | BM 4T | 08531285, 2217 | gp,of
BM=1050.45
P 150 Q +10°5" 0.734,1.298,1.602 Om staff
L bewg  held
Q 150 | R 62T 1567.25543.005 | vertically

Compute the reduced levels of P,Q and R
and the horizontal distances PQ and QR (16)

Or
(b) A tachometer is set up at intermediate point (

on a transverse course AB and the following
observation are taken on a staff held

vertically:

Staff | Bearing | Vertical | Intercept | Axial Hair
Station Angle Reading
A 300 45 +5024' | 2.172 1.962
B 260025 | - 5012 1.986 1.866

The instrument is fitted with an anallatic
lens and the multiplying constant is 100.
The reduced level of A being given as 450.75
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m. Calculate the length of AB and the
reduced level of B.

From a satellite station ‘S’ at a distance of
20m from main triangulation station D, the
following direction were observed.

D=0v00" 00"
A =130° 20’ 407
B = 210040 207
C =280° 20’ 20"
Length DA = 2800m
DB = 3800m
DC =2700m

Find the directions of DA, DB and DC
Or

The following reciprocal observations were
made from two stations a and B.

Horizontal distance between A & B = 3500m

Angle of elevation of B at A =107 20"
Angle of depression of A at B =104’ 30"
Height of instrument at A =1.40m
Height of signal at A =8.25m
Height of instrument at B =1.35m
Height of signal at B =6.50m
Rsinl” =30.88m
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Find difference in level between A and B and
coefficient of refraction.

Adjust the following angles ABC and D
which close the horizon

LA=10820'36"  weight 1

B =98040 40 weight 2

Le=82030 42 weight 3

D =700 27 54 weight 4
Or

The angles A.B,C observed at a station O,
closing horizon alang with their

standard errors-are given below:
la=81020 18" €2
[B=130040'28" 13
[C=147050' 26" g

Determine the corrected angles.

Calculate the sun’s azimuth and hour angle
at sunset at a place in latitude 55°N, when
its declination is (a) 220 N and (b)16°S

Or
Find the LST corresponding to 4-45 a.m on
Jan.26, 1953 at a place in longitude 680 12’
W., the GST of GMM being 8 h. 19m. 57.53 s

4

(18)

18)

(16)

(16)




[image: image5.png]@

(®)

@

The coordinates of two points P and @
having ground elevations of 200m and
500m above datum respectively,
measured on the photo print taken with
a camera having focal length of 20 em
are as given below:

Point Co-ordinates
P X cm Y cm
+3.32 1.85
q 204 +412

(5]

The flying altitude is 3000 m about
datum.

Determine the length of PQ

In a pair of overlapping photographs
the mean distance between principal
points both lying on the datum. The
camera focal length is 150 mm. In the
common overlap, the television tower
60 m in height with its base at the
datum surface is observed. Determine
the parallax difference between top and
bottom of the tower.

Or

®

®)

Briefly explain the methods of locating (16)
soundings.





